ECUACIONES DE PRIMER GRADO

ECUACIONES SENCILLAS

1) 5x =20
2) 4x =-24
3) —4x =12
4) —9x =-T72
5) —x =31
6) 3x =0

7) 15x =1

8) Ox =—13
9) 7x=14
10)0x =0
11)3x —1=8
12)7-3x =1
13)x-3=x+6
14)x +3 —4x =0

15) 3Xx—-5=x+7-12x

16) 3x—1=2x+6
17) 6X—1+5Xx=X%x+9
18) 5x+3=5x+1
19) 4x-3=4x+7

1)
2)
3)
4)
5)
6)
7)
8)
9)

Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:

X=4

X=-6
X=-3
X=28
X=-31
X=0
x=1/15
Incompatible
X=2
Indeterminada
X=3

X=2
Incompatible
x=1

X=06/7

X=17

Xx=1
Incompatible

Incompatible

ECUACIONES CON PARENTESIS

5x=2=10x-2—-(x=7)
4—(x-3)=5(x-2)+9
4X+2(Xx—=7)=3x+4
2X—-5=4-3(2X+6)
S5Xx+1=52+x)-3
3x=5(1-6x)+3(2x+3)=0
4—-Bx+1)=5(x+1)-3(7x+4)
3(x+1)—-5=3x-2
2(X=3)+5(x+6)=23

Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:
Sol:

X=-7/4
X=4/3

X=06
X=—9/8
Incompatible
X= —4/39
x=-10/13
Indeterminada
X=-=1/7



10) 3x—-1=6—(7-3x) Sol: Indeterminada

11) 6(7—X) =8(6—X) Sol: x=3
12) 4(x—6) =12—(x+3) Sol: x=33/5
13) 4(x=7) = 2(X +1) = 3x Sol: X=6

14) 2X=3)+(5X=7)—(X+2)—(6Xx+5)=0 Sol: Incompatible

15) 3x+8—-2=3(x+2) Sol: Indeterminada
16) 5x —99 =8x — 12 Sol: x=-29
17)3(x+ 1)+2(3x —=7)=0 Sol: x=11/9
18)5x —2(x+ 6) =3x—12 Sol: Indeterminada
19) 5-(7x+1)+3x=4(3-x)-10 Sol: Indeterminada
20) 2(x +1)+2(x +2)+2(x +3) =24 Sol: x=2
21) 17x — 11 =—4(x+23) Sol: x=-27/7
22)5(x+2)=5x — 10 Sol: Incompatible
23)4x — (2x +15)+(14 - 5x)=0 Sol: x=-1/3
24)3 =2(xt9) — 10x + 41 Sol: x=17
25)5x —3(x+1)=4—-(3x +19) Sol: x=-12/5
26)3x —2(4x —11)—(7x+1)=1 Sol: x=-11/6
27)14x +16 — 3(5+4x) = — 11 Sol: x=-6
28) 2(X +2) — 3(X +2)+4(x +2) = 5(X +2) Sol: x=-2
29)4x —7(2x +5)=31x —6(3 — 2x) Sol: x=-1

ECUACIONES CON DENOMINADORES
1) §—6=2x Sol: x= —4
2) 3x- % =3X+5 Sol: Incompatible
3) §+2(x—1):5 Sol: x=28/9
4) §—2=5(x+1) Sol: x= —3/2
5) X224 10=5x Sol: x=2
0) 4x—7?x+12:x—6 Sol: x= —27
7) ax—1=X43 Sol: x = 14/15

2 4

8) 10x =15 =2X-3 Sol: Indeterminada



9) 2(x+3)—§:x
10)X+6—4—3X:x+2

1L+ X355
24

3 3 3
13))%_2:)(_x+10

gy 2X=2 , 4x_8

14yg- X 2X_2
575 5

6x —1

15) 5x — =0

16) 3x—%+3x_5:

1

2X+5 X X—10
+—=
6 6
18) X—l:3x+8
2

17)

X—3
5

X

20)5—(2x+3)=5

19) =4(x+7)

21)3(2x—5)+6—(2x+7)=%

2x+3) | _3(x=6) ,
3 4
5x-2 X+3
———=X+5
4 6

3X+7 2xX+1
-2= + X

2 4
25 XX 2X L (x4

4 3 6 2
3x+1 2(x+7)

2 6
27) 3x— 210X _

22)

23)

24)

26) 2=x+3

1

28) §+5+5—3X_1 -
2 3 4 6

29) 5x — 3[% — 4x) =8X

0

_sx

30) %(x ~6) >

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Xx=-7/2

x=10/9
Indeterminada
X= —38
X=—1/4

X =31/36
Indeterminada
Xx=—17/4
X= —143/19
X =4/5

X =33/8
Xx=18
Xx=37/3
Incompatible
X= —06/7
x=41
Incompatible
X=-2/7
x=1/6

X=16



31 X _6x v 4
6
3x—8 3x+9
4

4—x_1=6_2x+3

32) 7x —

33)

34y 3x X _2X¥3
55

TXx -3

35) 52X - 6) — 1 - =5+ 7x

36)
5 4 10
6(x—-1) 3 1
37) —————=—-(5x-6
) 5 4 2( )
38)3(X—§)+9:3—X
4
39)2(5x—7)+g_x—7
3 5 6
40) 9 _7x+1_x24=O

a1) 7x—32x+ 7y + 2[ X2 oy
302

42) 2 x+ X722 Zex=3x- X

5 3 6

43) 2(5—’(—4] = 3X —l(Sx—ij
3 4 3

2X -5 3
44y 4-= _(—2)[x—§)

x—l_x+2+1—3x_x+2

45)
510 15 30
46) 2x— 13X 1 2 _o(x—3) 41
3 5
a4 1
5x+6 2
48)2(x—l)_x+4+1=x_3(x—2)
3 15
3x-1 1
- +X
49) 22 _ 9y
2 3

x—4+SU—2):J__x—1

50
) 5 15 10 2

3x  3(7-5x)+2 X+ 2
—— =— + X

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

X= —23/35

x=13/113

X=28

X=3/7

X=—-69

X=37/23

X=21/26

X= -2/3

X =93/95

X="7/32

X=67/4

X= —8/229

x=100/19

X= —67/20





